BTN FIHO) 7% &

1| #&% 50 HE)F6#, 80 HElF 14 i
50 HOIF% » #, 80 HUIFZ y KB o7& T5 L
ety=20 0 e )
{2000 —(50x +80y)=580  ----- )
@ Do ZEITT L TCERTS &
Se+8y=142 e ©
©) oz + 8y =142
Dx5 —) S5z + 5y =100
Jy =42
y=14
y=14 % QITRALTHES L z=6
r=6, y=14 BB LTW5, £->T 50HEIF 64, 80 HEIF 14#
ol@E (1) 7/—%A320H, y/—*%B260 M 2) BETAIE BEFBIIHE
1) r—%ADEER%ZzH, 7—x BOERZyHLT5L
{3x+4y=1800+200

4z + 2y = 1800
ZOEMNFEBERLMHES L x=320, y=260
x=2320, y=260 IXRIEIZEL T3, r—x% A 320H, 7—=% B 260 M
2 BETA%ZzMEH, BEFBZyBESI TFTETChHoLTHL
z+y=20
{803/ + 100z = (80 + 100y ) — 40

ZOEVNFEBAEMS L 2=9, y=11
z=9, y=11 1FREIE L T35, BEFAIME, BETFBILE

3| @8 ~ 120, YV=2—X110H

N1E OEEREZ M, Ya—R1KOEERZyMHLETDL

2r+y=350 - @
{5x+3y=930 ------ )
DOx3 6x + 3y = 1050
@ —) 5z + 3y =930
x =120

=120 % O IZRALTHES & y=110
r=120, y=110 IFMEHE L T\%, &Ko>T »~r120H, Y=—RX110H



